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Multiple Choice Questions 

In the ever-growing consumer electronics industry, Horizon Technologies found itself at a crossroads in 2018. The 

company, founded a decade earlier, had established itself as a key player in the global market for smartphones and 

other electronics. However, the pressure to stay relevant, meet customer demands, and fend off competitors was 

mounting. This is the story of how Horizon Technologies navigated its challenges, leveraging key business strategies 

and analyses to achieve remarkable success. 

Horizon Technologies recognised the need to divide its operations to find areas for improvement. They conducted a 

comprehensive value chain analysis, identifying both primary and support activities. By streamlining processes and 

eliminating redundancies, the company reduced production costs and enhanced product quality. This allowed them to 

offer more competitive prices, thus gaining a strategic edge in the market. 

The company’s CEO, Mr. Jonathan Mercer, was known for his authoritative management style. His challenge was to 

transform his leadership approach to one that encouraged creativity and teamwork within the SBUs. Mr. Mercer 

invested in leadership development programs for middle and senior managers to enhance their interpersonal and 

communication skills. The transition wasn’t easy, but it fostered a more collaborative and dynamic work environment. 

They did not stop there, Horizon Technologies adopted a Strategic Business Unit (SBU) structure, dividing the 

company into smaller, more manageable units. Each SBU was tasked with focusing on specific product lines. This 

decentralisation empowered individual units to make strategic decisions autonomously, leading to quicker market 

response and a deeper understanding of customer needs. It was the catalyst for innovation and improved customer 

satisfaction.  

Post organisational changes, Horizon Technologies strategised to embrace a cost leadership strategy, positioning 

itself as the go-to brand for affordable yet high-quality electronics. By optimising production processes and supply 

chain management, the company achieved cost efficiencies that competitors struggled to match. This not only 

attracted cost-conscious consumers but also enabled the company to maintain healthy profit margins. 

As Horizon Technologies expanded into new international markets, the management recognised the importance of 

adapting to the local environment. Conducting a thorough PESTLE analysis (Political, Economic, Social, Technological, 

Legal, and Environmental) proved pivotal for navigating complex market dynamics. This analysis highlighted specific 

challenges, especially in understanding socio- cultural trends and regulatory differences across regions. By leveraging 

these insights, Horizon Technologies was able to overcome these obstacles, customising its products, marketing 

strategies, and operations to align more effectively with local preferences and regulations, ultimately contributing 

to their success. 

Through these strategic moves, Horizon Technologies experienced a remarkable transformation. Within two years, 

their market share had significantly grown in local markets, whereas the cost leadership strategy resonated strongly. 

Their annual revenue skyrocketed by 35%, and the company saw a 20% increase in its stock price. The business case 

for Horizon Technologies serves as an inspiration for companies navigating competitive and dynamic industries. 

 

Based on the above Case Scenario, answer the Multiple Choice Questions. 

 

Q1(i): In Horizon Technologies’ journey towards globalisation, PESTLE analysis played a pivotal role in navigating 

diverse international markets. Which aspect of PESTLE analysis proved to be the most challenging for Horizon 

Technologies? 

(a) Socio-cultural factors, as they struggled to keep up with changing trends and cultural preferences. 

(b) Legal factors, given the complex regulatory landscape in foreign markets. 

(c) Environmental factors, with the need to adhere to varying sustainability standards. 

(d) Technological factors, due to rapid changes in local technology preferences. 

 

Q1(ii): Horizon Technologies implemented a Strategic Business Unit (SBU) structure to improve its responsiveness 

and innovation. How did the SBU structure differ from the company’s previous organisational model, and what 

benefits did this new structure bring? 

(a) The SBU structure replaced a functional structure and empowered units to make strategic decisions. It led to 

quicker market response and enhanced customer satisfaction. 

(b) The SBU structure replaced a matrix structure, improving vertical communication and reducing operational silos. 

(c) The SBU structure maintained the existing functional structure but focused solely on cost-cutting measures. 

(d) The SBU structure introduced a more centralised approach, ensuring consistent decision-making across units. 

 

Q1(iii): Horizon Technologies faced internal challenges, including leadership struggles with an authoritative CEO. 

How did Mr. Jonathan Mercer transform his leadership style to foster a more collaborative work environment, and 

what were the key outcomes of this transformation? 

(a) Mr. Mercer increased his authoritative approach to drive quicker decision-making and efficiency. 



(b) He introduced a strict top-down hierarchy to enhance discipline and order within the organisation. 

(c) Mr. Mercer invested in leadership development programs, enhancing interpersonal and communication skills, 

which resulted in a more collaborative and dynamic work environment. 

(d) He delegated most of his responsibilities to middle managers, reducing his involvement in the company’s daily 

operations. 

 

Q1(iv): While implementing a cost leadership strategy, Horizon Technologies went beyond just streamlining their 

production processes. What other factors did they consider achieving cost efficiencies, and how did this contribute 

to their success? 

(a) They solely focused on reducing labor costs, resulting in job cuts and employee dissatisfaction. 

(b) Horizon Technologies invested heavily in extravagant marketing campaigns to attract a premium customer base. 

(c) They optimised supply chain management and invested in research and development, leading to enhanced product 

quality and reduced production costs. 

(d) The company acquired competitors to eliminate competition and establish a monopoly in the market. 

 

 

Q1(v): The primary factor contributing to Horizon Technologies’ remarkable transformation was their commitment 

to systematic analysis. What role did value chain analysis play in this transformation, and how did it drive their 

success in both local and global markets? 

(a) Value chain analysis revealed opportunities for diversification, enabling them to cater to various market 

segments. 

(b) It allowed the company to identify and eliminate inefficiencies in their operations, resulting in cost reductions 

and improved product quality. 

(c) Value chain analysis highlighted the need for excessive vertical integration, helping them control the entire 

supply chain. 

(d) Horizon Technologies used value chain analysis primarily for financial forecasting and budgeting. 

 

Q2: In a recent strategy meeting, the leadership team of TechNova, a growing software development firm, 

emphasised the importance of defining the core purpose of the organisation. They aimed to outline the primary 

reason for the company’s existence and to guide their decision- making processes during challenging times. They 

noted that this central guiding declaration would help align the team’s efforts and communicate to stakeholders what 

the company stands for. What term best describes the central guiding declaration that communicates the purpose 

and values of TechNova? 

(a) Vision 

(b) Mission 

(c) Objectives 

(d) Goals 

 

Q3: A company’s flagship product has experienced a plateau in sales despite heavy promotions and marketing. What 

phase of the Product Life Cycle are they likely in, and what is the best strategic option to consider? 

(a) Introduction; increase prices 

(b) Growth; diversify product range 

(c) Maturity; seek product differentiation 

(d) Decline; invest in new technology 

 

Q4: A multinational corporation is planning a merger with a local firm in a developing country. The local firm’s 

community has high stakes in maintaining local employment and environmental standards but possesses low power in 

formal negotiations. How should the corporation categorise this stakeholder? 

(a) High power, low interest 

(b) Low power, high interest 

(c) High power, high interest 

(d) Low power, low interest 

 

Q5: EcoGreen, a company specialising in sustainable home products, has decided to enter the energy sector by 

developing and marketing solar panels and home energy storage solutions. This new direction involves creating a 

completely new product line that extends beyond their traditional home goods, thereby entering an industry with 

their current brand. What strategy is EcoGreen using to enter the energy sector? 

(a) Market penetration 

(b) Product development 

(c) Market development 



(d) Diversification 

 

Q6: Alpha Corp is undergoing a shift to foster a culture that encourages innovative thinking and team collaboration. 

To achieve this, the company is focusing on how leaders interact with their teams and set examples for behavior, 

aiming to align leadership practices with desired cultural outcomes. Which aspect of AlphaCorp is being adjusted to 

foster a culture of innovation and collaboration? 

(a) Structure 

(b) Systems 

(c) Skills 

(d) Style 

 

Descriptive Questions 
Chapter 1-Introduction to Strategic Management 

Q7: XYZ Enterprises operates in various sectors, including renewable energy solutions, organic skincare products, 

eco-friendly packaging, and smart home technologies. The organisation is currently in the process of recruiting a 

Chief Executive Officer. In this scenario, imagine yourself as an HR consultant for XYZ Enterprises. Identify the 

strategic level that encompasses this role within XYZ Enterprises. Provide an overview of the key duties and 

responsibilities falling under the Chief Executive Officer's scope. 
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Solution 7: The Chief Executive Officer (CEO) position within XYZ Enterprises operates at the Corporate Level. 

This executive level is key in leading the overall direction, performance, and success of the entire organisation. The 

CEO assumes a central role in shaping the company's strategic vision, overseeing diverse business sectors, and 

ensuring alignment with organisational goals. 

Key Duties and Responsibilities of the CEO: 

The CEO's role encompasses various strategic responsibilities at the Corporate Level, involving: 

1) oversee the development of strategies for the whole organisation; 

2) defining the mission and goals of the organisation; 

3) determining what businesses, it should be in; 

4) allocating resources among the different businesses; 

5) formulating, and implementing strategies that span individual businesses; 

6) providing leadership for the organisation; 

7) ensuring that the corporate and business level strategies which company pursues are consistent with maximising 

shareholders wealth; and 

8) managing the divestment and acquisition process. 

Given the diverse nature of XYZ Enterprises, including renewable energy solutions, organic skincare products, eco-

friendly packaging, and smart home technologies, the CEO's responsibilities are tailored to navigate the unique 

challenges and opportunities presented by each sector. In conclusion, the CEO at the Corporate Level plays a critical 

role in guiding XYZ Enterprises strategically, ensuring cohesive leadership, and driving sustainable success across its 

diverse business domains. 

 

 

Q8: ‘A company's mission statement is typically focused on its present business scope.' Explain the significance of 

a mission statement. 
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Solution 8: A company's mission statement is typically focused on its present business scope, who we are and what 

we do. Mission statements broadly describe an organisation's present capability, customer focus, activities, and 

business make up. Mission for an organisation is significant for the following reasons: 

• It ensures unanimity of purpose within the organisation. 

• It develops a basis, or standard, for allocating organisational resources. 

• It provides a basis for innovating the use of the organisation’s resources 

• It establishes a general tone or organisational climate, to suggest a business-like operation. 

• It serves as a focal point for those who can identify with the organisation's purpose and direction. 

• It facilitates the translation of objectives and goals into a work structure involving the assignment of tasks to 

responsible elements within the organisation. 

• It specifies organisational purposes and the translation of these purposes into goals in such a way that cost, 

time, and performance parameters can be assessed and controlled. 

 

Chapter 2-Strategic Analysis: External Environment 
Q9: Mr. Arun Kumar has built a successful business in the handmade ceramic products industry in Gujarat. His 

company, CeramiCrafts, is renowned for crafting distinctive, high-quality ceramic home décor items that have gained 



a strong foothold in the market. However, recent market shifts and rising competition have impacted sales. Seeking 

professional guidance, Mr. Kumar consults a strategic advisor who recommends an in-depth analysis of the competitive 

landscape. To comprehend the competitive landscape, what steps should Mr. Kumar follow? 
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Solution 9: Understanding the competitive landscape is crucial for Mr. Arun Kumar to navigate the handmade ceramic 

products industry in Gujarat successfully. This involves identifying both direct and indirect competitors while gaining 

insights into their vision, mission, core values, niche markets, and strengths and weaknesses. Here are the structured 

steps Mr. Kumar should follow to comprehend the competitive landscape and bolster his strategic position: 

(i) Identify the competitor: The first step to understanding the competitive landscape is to identify the 

competitors in the handmade ceramic products industry. Mr. Kumar should gather actual data on the market 

share and positioning of competitors within the industry. 

(ii) Understand the competitors: Once the competitors have been identified, Mr. Kumar can use market research 

reports, the internet, newspapers, social media, industry reports, and various other sources to understand the 

products and services offered by competitors. This will help him comprehend how they position themselves in 

different markets and their unique selling propositions. 

(iii) Determine the strengths of the competitors: Mr. Kumar should assess what the competitors excel at. Do they 

offer superior product quality? Are they using marketing strategies that reach a wider customer base? Why do 

consumers choose them over others? Understanding these strengths will help Mr. Kumar identify areas where 

his company, CeramiCrafts, can enhance its offerings. 

(iv) Determine the weaknesses of the competitors: Weaknesses of competitors can be identified by reviewing 

customer feedback, consumer reports, and reviews. Consumers often share their experiences, especially when 

products or services are either exceptional or subpar. By examining these weaknesses, Mr. Kumar can find 

opportunities to position CeramiCrafts as a better alternative. 

(v) Put all of the information together: At this stage, Mr. Kumar should consolidate all the information gathered 

about competitors. This will help him identify gaps in the market that his company can fill, as well as areas where 

CeramiCrafts needs to improve. By understanding the competition thoroughly, he can devise strategies that 

strengthen his market position. 

By following these steps, Mr. Kumar can gain a comprehensive understanding of the competitive landscape, enabling 

him to make informed strategic decisions for CeramiCrafts. This tailored approach ensures that the insights gained 

are directly applicable to the handmade ceramic products industry in Gujarat. 

 

Q10: According to Michael Porter, what are the five competitive forces that exist within an industry? 
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Solution 10: Michael Porter's Five Forces model is a widely utilised tool for systematically analysing the competitive 

forces within an industry. The model identifies five competitive forces that shape the overall competitive landscape: 

• Threat of New Entrants: New entrants bring added capacity and product variety, intensifying competition and 

impacting prices. The size of new entrants magnifies their competitive influence, placing constraints on prices 

and affecting existing players' profitability. 

• Bargaining power of Buyers: The ability of buyers to form groups or cartels influences their bargaining power. 

This force, particularly in industrial products, impacts pricing and often leads to demand for better services, 

influencing costs and investments for producers. 

• Bargaining power of Suppliers: Suppliers with specialised offerings exert significant bargaining power, 

especially when limited in number. Supplier bargaining power determines raw material costs, affecting industry 

attractiveness and profitability. 

• Rivalry among Current Players: Existing players engage in competition, influencing strategic decisions across 

various levels. This rivalry is evident in pricing, advertising, cost pressures, and product strategies, impacting 

the overall competitive landscape. 

• Threats from Substitutes: Substitute products can alter an industry's competitive dynamics, offering price 

advantages or performance improvements. Substitutes limit prices and profits, and industries with substantial 

R&D investments are particularly susceptible to threats from substitute products. 

These forces collectively determine industry’s attractiveness and profitability by influencing factors such as costs 

and investments required for industry participation. The strength of these forces varies across industries, ultimately 

shaping the potential for earning attractive profits. 

 

Chapter 3-Strategic Analysis: Internal Environment 
Q11: ABC Corporation, a leading manufacturer of consumer electronics, is considering launching a new line of smart 

home devices. As a strategic manager, conduct a SWOT analysis for ABC Corporation to assess the feasibility and 

potential success of this new venture. Consider both internal and external factors that could impact on the success 

of the new product line. 
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Solution 11: SWOT Analysis for ABC Corporation's New Smart Home Devices Venture: 

Strengths Weaknesses 

Strong brand reputation in consumer electronics. Limited experience in the smart home devices market. 

Established distribution network. May require additional investments in research and 

development. 

Access to technological expertise for product 

development. 

Potential challenges in integrating a new product line 

with existing offerings. 

Financial resources to support product launch and 

marketing. 

Lack of established customer base for smart home 

devices. 

Opportunities Threats 

Growing market for smart home devices due to increasing 

consumer interest in home automation. 

Intense competition from established players in the 

smart home devices market. 

The possibility of partnering with existing smart home 

platform providers. 

Rapid technological advancements lead to short 

product life cycles. 

Potential to leverage brand loyalty from existing 

customers. 

Potential for cybersecurity threats in connected 

devices. 

Ability to differentiate through innovative features and 

design. 

Economic factors impacting consumer spending on 

discretionary items. 

The SWOT analysis highlights that while ABC Corporation has several strengths that can support the launch of a 

new smart home devices line, there are also significant weaknesses and threats to consider. To maximise the chances 

of success, ABC Corporation should focus on leveraging its brand reputation and distribution network while carefully 

addressing the weaknesses and threats identified. Additionally, being informed about technological developments 

and consumer trends will be essential for maintaining competitiveness in the dynamic smart home devices market. 

Channels represent the distribution system through which organisations distribute their products or provide services 

to customers. They play a pivotal role in reaching target markets, maximising sales, and establishing competitive 

advantages. 

 

Q12: What are channels? Why is channel analysis important? Explain the different types of channels? 
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Solution 12: Channel analysis is important when the business strategy is to scale up and expand beyond the current 

geographies and markets. When a business plans to grow to newer markets, they need to develop or leverage existing 

channels to get to new customers. Thus, analysis of channels that suit one’s products and customers is of utmost 

importance. 

There are typically three channels that should be considered: sales channel, product channel and service channel. 

The sales channel - These are the intermediaries involved in selling the product through each channel and ultimately 

to the end user. The key question is: Who needs to sell to whom for your product to be sold to your end user? For 

example, many fashion designers use agencies to sell their products to retail organisations, so that consumers can 

access them. 

• The product channel: The product channel focuses on the series of intermediaries who physically handle the 

product on its path from its producer to the end user. This is true of Australia Post, who delivers and distributes 

many online purchases between the seller and purchaser when using eBay and other online stores. 

• The service channel: The service channel refers to the entities that provide necessary services to support the 

product, as it moves through the sales channel and after purchase by the end user. The service channel is an 

important consideration for products that are complex in terms of installation or customer assistance. For 

example, a Bosch dishwasher may be sold in a Bosch showroom, and then once sold it is installed by a Bosch 

contracted plumber. 

 

 

Chapter 4-Strategic Choices 
Q13: InnovaTech, a technology company with a range of business units, is assessing its investment opportunities. To 

allocate resources effectively, InnovaTech uses a matrix that evaluates each business unit based on two key factors: 

industry attractiveness and business unit strength. For example, the AI solutions division, positioned in a highly 

attractive industry with a strong competitive edge, receives a "go ahead" for further investment. In contrast, its 

legacy software division, operating in a less attractive industry with a weaker position, receives a "be careful" rating, 

suggesting limited investment. Identify and explain which analytical tool InnovaTech is using for this evaluation. 
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Solution 13: InnovaTech is using the GE Matrix, a strategic tool designed to assess the resource allocation needs 

of different business units based on two factors: industry attractiveness and business unit strength. This matrix is 



a nine-cell grid that helps companies prioritise investments by categorising units into “grow,” “hold,” or “harvest” 

zones, depending on their positions within the matrix. 

For InnovaTech, the AI solutions division, which operates in a highly attractive industry with a strong competitive 

position, falls into the “grow” category, meriting further investment. Meanwhile, the legacy software division 

operates in a less attractive industry with weaker positioning, likely placing it in the “harvest” or “hold” category, 

where investments are minimised. 

The GE Matrix enables companies like InnovaTech to systematically evaluate each business unit’s potential, optimise 

resource allocation, and focus on divisions that align with long-term growth and profitability goals. 

 

Q14: What do you understand by Strategic Alliance? Discuss its advantages. 
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Solution 14: A strategic alliance is a relationship between two or more businesses that enables each to achieve 

certain strategic objectives which neither would be able to achieve on its own. The strategic partners maintain their 

status as independent and separate entities, share the benefits and control over the partnership, and continue to 

make contributions to the alliance until it is terminated. The advantages of strategic alliance can be broadly 

categorised as follows: 

(a) Organisational: Strategic alliance helps to learn necessary skills and obtain certain capabilities from strategic 

partners. Strategic partners may also help to enhance productive capacity, provide a distribution system, or 

extend supply chain. 

(b) Economic: There can be reduction in costs and risks by distributing them across the members of the alliance. 

Greater economies of scale can be obtained in an alliance, as production volume can increase, causing the cost 

per unit to decline. The partners can also take advantage of co-specialisation, creating additional value. 

(c) Strategic: Rivals can join together to cooperate instead of competing. Strategic alliances may also be useful to 

create a competitive advantage by the pooling of resources and skills. This may also help with future business 

opportunities and the development of new products and technologies. Strategic alliances may also be used to get 

access to new technologies or to pursue joint research and development. 

(d) Political: Sometimes strategic alliances are formed with a local foreign business to gain entry into a foreign 

market either because of local prejudices or legal barriers to entry. 

 

Chapter 5-Strategy Implementation and Evaluation 
Q15: EcoTec, a company specialising in sustainable technology solutions, is facing challenges due to shifts in 

environmental regulations and market preferences. To manage these uncertainties, they regularly review and update 

their business assumptions and strategic plans based on changing regulatory environments and consumer trends. This 

proactive approach helps them stay aligned with evolving market conditions and maintain a competitive edge. Explain 

which approach is EcoTech to adapt to changes in regulations and market conditions? 
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Solution 15: EcoTech is using Premise Control to adapt to changes in regulations and market conditions. Premise 

Control is a strategic management approach focused on continuously monitoring and reviewing the underlying 

assumptions that form the basis of an organisation’s strategy. By regularly assessing these assumptions—such as 

environmental regulations and consumer preferences, EcoTech ensures that its strategic plans remain relevant and 

responsive to external changes. This proactive process helps the company make timely adjustments to its strategies, 

allowing it to stay competitive and aligned with the evolving market environment. 

 

Q16: GloWare Ltd., an apparel manufacturer, has been in the market for over a decade. Until 2023, it operated on 

the founding principles of its CEO, focusing on a limited regional market. With new growth opportunities arising, 

GloWare is now interested in developing new competencies in areas such as digital marketing, product innovation, 

sustainable materials, and financial management. Recognising that changing one area may impact others, the company 

wants a comprehensive understanding of the interconnected elements that contribute to its operational 

effectiveness. 

As a strategist, you are tasked with creating a questionnaire to analyse both the "hard" and "soft" elements of the 

organisation. This assessment will enable GloWare to understand the factors that influence its effectiveness and to 

strategically align its structure, skills, and culture with its growth ambitions. 
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Solution 16: In addressing the strategic needs of GloWare Ltd., the McKinsey 7-S Model serves as a valuable tool. 

This model examines how various "hard" and "soft" elements within the organisation interact, with the understanding 

that modifying one aspect can create a ripple effect on other elements, helping to maintain a balanced and effective 

organisational structure. By analysing these elements, GloWare can gain insights into its organisational design and 

make strategic adjustments to improve performance. 

The McKinsey 7-S Model categorises elements into hard and soft components: 

Hard Elements (directly managed by the company): 



1) Strategy: The organisation's direction and competitive approach, designed to leverage core competencies and 

achieve industry leadership. 

2) Structure: The chosen organisational setup, shaped by resource availability and the degree of centralization or 

decentralisation desired by management. 

3) Systems: The daily operations, processes, and teams that execute objectives in an efficient and effective 

manner. 

Soft Elements (influenced by organisational culture and more challenging to define): 

1) Shared Values: Core beliefs that shape the culture and ethical code within the organisation. 

2) Style: Leadership style and its impact on decision-making, employee motivation, and goal delivery. 

3) Staff: The talent pool and workforce capabilities. 

4) Skills: The key competencies of employees that contribute to organisational success. 

While the McKinsey 7-S Model provides a structured approach to analysing organisational effectiveness, it has 

certain limitations: 

1) Limited Focus on External Environment: The model focuses only on internal elements, potentially overlooking 

external factors impacting the organisation. 

2) Undefined Organizational Effectiveness: It does not clearly explain how to measure or achieve organisational 

effectiveness. 

3) Static Nature: The model is considered more static and may lack flexibility in dynamic decision-making 

situations. 

4) Potential Gaps in Strategy Execution: It may not fully capture gaps between strategy development and 

execution. 

By applying the McKinsey 7-S Model, GloWare Ltd. can gain a comprehensive understanding of the interconnected 

elements within its organisation and how they impact overall performance. Insights gathered from a questionnaire 

based on this model can inform strategic decisions, allowing GloWare to enhance growth, operational efficiency, and 

competitiveness in a changing market. 

 

 


